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@ ROEIHEXDERD, x = 4, y= 3 LBBLIC. abDfEERDITIN,
{ a X + b y = 15
b X — a y = -5
@ ROEBEIFEBAOENS, x = 5, y= 3 EHRBLIC. a.bDEERDEEN,

{ax+7y=41
6 x — b y =15

® ROEIFERDED, x = 2 ,y= 1 L3I a.bDEZERHIEE,
{ a x — b y = -10
b X + a y - 5
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® x = 4 y-= 3 KA
{ 4 a + 3 b =15 Q)
-3 a 4+ 4 b = -5 )
® X 3 + @ X 4T,
12 a + 9 b = 45
+ ) -12 a 4+ 16 b = -20
25 b = 25
b = 1
b =1 =D ICRALT,
4 a + 3 =15
a = 3
(a, b)y=06 3, 1)
@ x = 5 ,y= 3 KA
{ 5 a + 21 = 41 o)
30 — 3 b = 15 e
D&Y 5 a = 20 @£V
4
( a, ) = 4 , 5 )
@ X = 2 y Y 5 1 %f&)\
{ 2 a — b = -10 @D
a + 2 b = 5 ...@
® X1 - @ X 2T,
2 a — b = -10
— ) 2 a + 4b = 10
- 5 b= -20
b = 4
@QIKA @ + 2X4 = 5
a = -3
(a, b)y=0(06 -3, 4)
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-3 b = -15
b = S



